
M 5 
 

 
 

 

Napište do tabulky násobky čísel, barevně zakroužkujte společné 

násobky a zapište nejmenší společný násobek. 
 

n (3, 4) = ____________________ 

3               

4               

 

n (5, 7) = ____________________ 

5               

7               

 

n (2, 10) = ____________________ 

2               

10               

 

n (4, 5) = ____________________ 

4               

5               

 

n (6, 8) = ____________________ 

6               

8               

 

n (4, 12) = ____________________ 

4               

12               

 


